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1.

Lingyi learns that.all fiving things rised ir; water and food to stay alive.
Which get-up cari she use to keep organism X alive?

2 . @
plastic lid plastic lid
with holes with holes:

leaf

(3) _ )
plastic lid ,
without plastic lid
Heles with holes

Which statement is frué about most feptiles?

{1y They have fur,

{2) Theygive birth to their young.

{3) They can breathe through gills.

(4) Theyhave dry skin covered with scales.
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3.

The diagram below shows the:fif cycle of an animal,

nymph

aduit

i

™

€gg

Which animal is likely to have the life cycle as shown above?

(1
@)
(3
(4)

frog

chicken
maosquito
grasshopper
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4,

A;B and C dre stages in the life cyclaof @ plant:

Which of the following shows the comect fife cycle of the plant?

) ) ()

3) . ' &7
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5.

Which one of the following shows the comrect order when food méves thicugh some
parts of the digestive system?

SONRA W inl
lar: smalt
stomach Inizs‘st;e intestine
(2)
stomach small
ini::g;e intestine
(3)
small stomach
Entéstine
4y

stormach ~small large
intestine intestine
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Ben put a weeden solid block info & container of water,

o

qqqqq

—r -

At whiich position; A, B, C or D, would tha block most likely be found? -

m
(2
3
()

Qo w

Which of the following properties is true for both air and orange juice? -

(1}
2
{3)
{4)

They ¢can be seen.

They take up space.
They have fixed shapes.

They hava fixed volumes.
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8. The shadow of the object is formed on the screen because ...

scaroen

{1) the object b_iocks-.light
{2) the screen blocks light
{3) the object reflects light.
{4) the object absorbs light
9. ‘Warm water at 60°C is mixed with cold water at 10°C.

. water at 10°C
beaker

1 water at 60°C

What is a possible final temperature of water in the beaker?

(1)
(2)
{3)
4}

70°C
80°C
40°C
10°C
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The diagram shows a magnet brought near a plastic block.

.iﬁlaétiﬁhio:elﬁ | | 7 mégn.at-

What will happen to the plastic block?

{13 itvifl not move,

(2) It wiff move down.

{3}  Itwill move to the left.
{4) ftwilt mave to the right,

8it prepared four set-ups, A, B, C and D, as shown in the diagram, She placed the
set-ups € and D into a dark cupboard and placed all the set-ups near the window.

—— dark
cupboard

In which sat-up(s) would the seeds germinate?

(1} Aeonly

{2y Aand Conly
(3 Band Donly
4} - Gand Denly
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12. The graph below shows the duration of sach stage in the'life cycle of Insect X,

4
Adult male| ' |
Aduitfemale[ ]

Pupa ]

Larva; B

Egal |

1 T TT T I » Number of days
1 2 3 4 5 6 7 8

How many days did Insact X take to become an adult male after hatching?

(1) 10
@) 12
3y 15
4y 17
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13. Study the flowshart below.

Human Body
systems

Does ithelp
the person to
move from
place to
place?

Is # made
up of
bones?

- Doesithelpio
transport

substances

around the body?

Based on the flowchart, which of the following correctly identifies humar: body
systemis A, B, C ahd D7

A | B S | D

¢ty |~ “skeletat | Musetar | Digestive | Respiratory
@) Skeletal | Muscalar | Cireulslory |  Digestive
1@ |  Muscular | Respitatoty | Girculatory Digestive
). Muscular Girculatory | Digestive | Respiralory
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14.” The diagram shows 4 tree with its leaves all eaten up by pests.

5 i
i

Which of the following is the trée not able to do?

{1}y Make food

(2}  Stay firmly in the soil

{8}  Take in water and mineral saits
(4)  Transport water and mineral salts
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15.  Jemry wanted to find out if the amount of light the plant receives affects the-growth
of the plant. He put four similar plants ifto four identical pots and gave each plant
aiyéqua! amount of water every day.

: | [ PlantU PlantV
_(inthegarden) | (inthecupboard)| (inthe cupboard)| ({in thegarden)

Which pair of sét-ups should Jefry usé for his experiment?

(1) S-and U only
(2) Tand U only
{3)S.and V only
{4} T and VVonly
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16.  The diagram shows a water container filled with 300cm® of water. The capacity of
the contalner is 800cm™

WA

—— conlainer

tap

300cm? of
water

The tap of the containerwas turmned on to remave 100cm® of water from the container.
What is the final volume of the air In the container?

(1) 400cm?®

(2) 6006

(3) 700cm3

(4}-800cm3
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17.  Henry studied the chart below.

Substance: {

Does it have '
_ mass?

” Does it have a
. Tixed shape?

1

Based on the information, which of the following statement is corfect?
{1) Fis asolid.

(3} E does riol have fixed volumie.

{4) G can be compressed buf E cannot.

13 P4 Science EYE 2024
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18. The diagram below: shows the shadow cast by an object.

shadow

Which of the following statements is incofract?

(1) Light is required to-form the shadow.

{2} The shadow above (s formed by an opague object.

{3) The shape of the shadow depends-on the position of the light source,
(4) The shadow cast by an object is always of the same size as the object,
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19. Mike carried ot an experiment in a dark foom. He placed four different shieets of
raterials as shown, When he switched on the torch, a dark shadow of the plant
was seen on sheet Uonly,

sheet of
migterial

torch —L 1]

Based on the information above, which of ihe following conclusion(s) Is/are
definitsly comect? .

Skieet U blocks light completely, -

Sheet V allows sorie light to pass through.

Sheets S and T allow most light to pass threugh.

Sheets 'S, T and U allow light to pass through. but sheet V blocks light
completely

oQ WP

(1) ~ Donly

(2) AandConly
(3) CTandDonly
1) A, BandConly

15 P4 Science EYE 2024



20.  Linda set up. the following experiment. She placed an opéque black at differerit
positions, A; B, C and D. She measured and recorded the height of the shadow
formed by the opaque block at different positions.

torchlight at a opague block screen.
fixed position

Which graph correctly shows how the helght of the shadow of the opaque block
changes when it is placed at the positions A, B, C and D?

(1) X (2} }
bk Height of °
Height of Y
shadow shadow
Position . Posltion
A B C D A B C D
) (4)
Height of $ Height of $
shadow shadow _
Position Position
A B € D A B C D
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Vani placed three glasses, E, F and G, on the tabie each containing tea at75°C

St S : L Teaat75°C

—
"

| e 75.:»_0 _..____ —
Glass E Glass F Glass G

Based on the information above, he made the following statements.

A The tea in glass E contains most amount of heat.
B Thers is more heat In the tea in glass G than glass F.
€ The teain thethree glasses has the same amount of heat.

Which of the above statement(s) Is/are cofrect?
{1} Bonly
(2} Gonly

(3) AandBonly -
(4) B and G only
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22. A bottle of mitk is placed in 4 basin of water as showi.
- boltle cap-
boifle
(80°C)—= = water
basin—ryp - - T = {15°C)

Which of the following graphs shows the chan

ge in the temperature of the milk and
water correctly?
(1) o . 2y
Temperature (°C) Temperature (°C)
1 ¥ --_-n---n-a.'--"" mi[k ‘r
\water
Time (min) Time (min})
@ (4) |
‘Temperamre,( C) Jemperature {°C)
il R
T, K
‘water A—r—
Time (rrin} Time (min)
18
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23. Ravi prepared a set-up as showix. He poured 250l of liquid X into the beaker and
recorded the time taken for it fo bioll.

250ml of
Tiquid X

candle

. heaker

- tripod stand

He repeated the experiinent using the samé amount of liquidé, Y and Z, He used
diffierent number of candles for sach experiment. The table shows the time taken for
the different liquids to boil.

" Liquid

Ability to gain heat | Time taken for itto boil {min)

x

Poor_

1

Good

Verygood |

Which. of the following shows the nummber of candies: he had used to boll liquids X, Y

and

)
2y
@
@

£?

“Number of candle(s)

Y

W=

3
1
2

~ o Nfe|N

18
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24, The diagram below shows four magnets, A, B and C, and a compass.

B compass

position -

A

The nerth pole of magnet C is.shown in the diagram. If another cdonipass is placed at
position X, which of the following correctly shows what this second compass would
display?

(1) | @

@ (4)

20 P4 Sclence EYE 2024
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96: The:diagram below shows four rings-made of different materials,

— - wooden stand

YWhich one of the following s not a possible observation when the rings are placed
through the wooden stand one on top of the other?

21 P4 Sciefice EYE 2024
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'26.  (a) Thediagram shows partof the human digestive systen. Tick 6ns box to
showwherethaguiietls, ~ nr

»

{b). Fll in the blank using the following helping words. ]

large intestine stomach. small Intestine mouth |

Food from the gullet is next passed on to the

' Score .




orrectpars ot pant s the . @

: Both set-ups were left near an open window for two days.

) lni‘-"hid‘ set-up woikd the water level be-lower after two days?
Explain your answer. 2

The p{ant in setaup X wasamdentalty broken.as shown in the diagram,

BP-714
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128 Bala compared the mass of trea objects.

Stiidy the dizigrams below-and circle the cémect comparisons.

{a) ObjectA Islighterthan / hasthe samemassas / is heavier than
object B. 1

- objectC

object A

(b) ObjectA islighterthan / has the samemass as /- is heavierthan
object C. (1

. Score




BP-716

20,  Jann plced a metaland aglass redintoatank of biling water. Identical pleces
of ice wubes wera placed on both rods as shown. |

--------

o
e e i

What would Jann observe and why? 2

The Ica cube on the glass rod melts __ ____thantheicecubeon
themetal od asglassisa conductorof heat than-metal:

30. Two magnets were placed together through a plastic holderas shown.

plastic holder

W

. ( B L—— magnet B

(a) The holder was made of plastic and-did not attract the magnet. &1
PlasticlBa_ o material.

(b} ‘Why was magnet A fioating on top of magnet B? !

MagnetBwas _______ ‘magnet A.

Score
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3, The'diagram' shows.a young seedling.

The mass of one patt of the plant (A, Boor C)was measured over eight days. The
results were recorded In the table.

Day Mass (g)
1 ) 8

4 5

& o
8 2

{a) Usling the data from the table-above, which partof the plant, A, B or C, was
the mass being measured? Explain your answer. 12]

(b} What would be the mass of the plantpart identified in your answeér in (a)on
~ day 67 Write your answer In the table above. [t}

* Score




Joshua propared two sebups 88 Shown in the diagram. He left them in & dark
Toom for a waek. |

Explain YOur ansier. " L

BP~718



BP~719

3. Shawn wanted to.find out  the sze of the foud affectsthe rate, o digestion: He
placed identical amount of food into three beakers as:shown In thé diagrams. Ho
then placed digestive juice into the three bezkers. S

beaker to show the correct amount

{(8) Inthe diagram above, draw a line in the b ‘ ofr r
of digestive juica Shawn had put in set-up G; in order to conduct a fair test,
‘ [1

Shawn recorded the time taken for the food to be digested completely. in the
table. '

" Time taken for digastion to.complete (s)
- . 1

Setup
G
H

(b)

100

(b) Whatis likely to be the time taken to complete the digestion in set-:up G?
Write your answer in the table above. &)

(c) -Explain your answer in {b).in comparison with set-up E, 11}

Score
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33 Tohy setiip anexperiiont as sHown in the disgraims to compars the property of
S{rips, A, B, Cand D, which wers mada of different ma érials butof the same

Before

He attached the stiip on abase and placed amass on it as shown inthe diagram
above. He recorded the distance, x, in the table below.

Material | Distance xi(em)
A , 0

—
%0

10

oinm

(3) Basedonthe restiité-,- which strip; A, B, C or D, is:most sgitaﬁle for making
a : 2

abelt? Explain your answer.

-

- Scorg
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Tony thenwaittod to riake 2 hook Strong erioiigh 16 hang d calefidaron the wall
d’i’_lft_g calendar has:a mass of 110g. He hung a stip of material E as shown inthe
iagraim.

material E

A 10g-mass was added one at a time fo the end of the material E until the'
material started to break. Material E started to.bresk whén a. 100g:mass was
hung on it i

(b} Tony said that material E is suitable.fo tss 16 make the hook.
Do you agres-with him? Explain your answer. 2}




ahata

CaMin'prepared an expériment set-up by placing a water dispenser which had

water dispenser. {.

water ——F

gléctronic balance

Then he pumped more air intd the same water dispenser and recorded its mass

agaln.

(2) State what happened to the reading on the electronic balance after some
alr was pumped into the water dispensar. [

ah Bttiched alr pump o8n electronic balance s shown In the diagram. He filled
the water  dispensar with” some waiter and recorded. the mass of the water

{b) Give a reason for your answer In (a). o}

.(ﬁ) Using the same set-up and without pumping In more alr, suggest ene way

1o Increase the volume of alr in the water dispenser filled with some water.
Explalin your answer. 21

Score
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Jeremy conducted an experiment i a dark rosim o investgate e propertiesof
materidls P, Q, R and S. He pliced different materials at positions 1 and 2

torc position 2 ‘fight sensor with
data logger

Ef;aam of light detected by the light sensor was recorded as shown in the

~ Material. 7 Matsrial * Amount of light detected
atposition1 |  atposition2 | _ (luxy
_P _a | 00
Q ! . R o 0
R ... s P @ o
I m e e

{a) Using:the information from the !abie, which one of the materials, P, Q, R or
S, would be most sultable to make 2 bedroom curtain that keeps the room
totally dark during the day? Explain your answer. ‘ 12}
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Coftintiod ok pigh 26
The: disgram shows. @ scanner that counts the number of people: entering a

concert hall. A light sensor and light source werg piaced on the scanner as
shbwn. Tha light sensor datects'the light coming from the light source.

scanner:

— light sensor

“The scanner is only wide enough for-ong person to pass through at a time. The
graph shows the readings from the light sensor,

- 5 - '-8'= Tima (s)

{c) Based on the graph, how many people passed through the scanner withir
alght seconds? [1}

Amount of light .
(lux)

Scém
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36.. David filled two identical mugs with equal amounts of chacolate drink and poili

with a tamperature 5Q'C and 27:C respoctively. Then he placed the mugs of
drink in the refrigerator ovemight

Next moming, David took the mugs out of the refrigerator and ha immediately
measured the temperature of the chocolate drink and milk at the sanie time.

The temperatures of the chocolate drink and milk are shown in the table.

Drink Temperature {°C)
Chocolate drink | (2) L
Mk : 3
o ‘ Chocolate drink
{a} Gomplete the table with the correct temperature of the itk after it was taken
out from the refﬁger.'atnr. ) 1
{b) Explain your answer in (a). Bl

David touched the mug of milk which was taken out of the refrigerator as shown
i the diagram.

mug of milk — | hand

(¢} He commented that his hand felt cold. Explain why his hand feit cold. 1]

Score




ar.

. barmagnet
11| Smm—— ,

{a) Statethe property of the tank that enabled the ball to move up together with

the magnet? [l
{b) Suggest an example of a material thiat the tank can be made of. 31
(¢) Explain how Helen was able to remove the ball.from the tank. 2
End of Paper . ‘Score e
D "4
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Qzf || a)
b) | Food from the gullet is next passed on fo $ha Stetach
axzi|a). | {i}leaf
{il} stem_
by | {1} Set-up X. The plant for Snt-up X bad mpre roots than the plant for ¥.
Thus, Set-up X's plant was shle toabeorb more water through its root for
the plant.
. | () Yes. it hars leaf to malr.efood and roots to absorb water.
az8 [[a) | “is lighter than®
{1b) 1 *isheavier than*
Q29 | The ice cube on the glass rod melts slower than the ice cube on
the etal rod as glass Is 3 poorer conductor of heat than metal.
Q30 || a) { Plasticls a non-magnetic materlal. _
b) | Magnet B was repelllng magnet A. -
Q31 [[a) | PartB, The mass of Past B decreases as the plant grows. The baby plant
uses, absorbs nutrients from Part B at the plant grows.
b) 3
'¢) | The seed In Set-up N.The seed has alr, water, warmth. 'rhese factors are

- required for the seed to  germinate,
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Q32ila)

b}

) | Thepleces of food In Set-up G Is sma!ler than Set-up F, so it has a larger
surface are In contact with the digestive julces, resuiting In a faster rate of
digestion. _ .

Q33 |1 a) | Strip C. t-conld bepd the greatest distance. Hence, It is-the most flexible
to raske it into a bedt'ssd canwrap, bend around the walst of a person.

b) | Nes Mategsal E startedtq break whan a mass of 100g was hung onit,
‘Hence it Is not strong enough<to with stand the welght of the calendar
which is heavier than 100g.

Q34 [{a) | The reading on the electronic balance would Increase after some air was
pumped into the water dispenser.

b) | There is more air in the water dispenser which has mass

¢} | Remove some water from the water dispenser- The alr will oceupy the
space previously occupied by the water. Aspir does'not have a deflnite
volume,

Q36 |1 a) | Material R. No light was detected by the light sensor when R was placed
on either position 1 or 2. Thus, no light can pasy through Material R so it
can be used to make a curtain that blocks afl fight from entering.

b} | Jeremy conducted the experiment in a dark rgown b ensure that the light
detected by the light sensor is only from the. light source, which is the
torch, and not from some other light saarce in the room.

g |8

a3b{{a) |3

b) | The thacolate drink Iost heat to the cold afr in the fridge until it reached
the same tempeTature as the cold air in the fridge.

¢} | His hand lost-hedt-ta the cold mug of milk.

Q37 i{ a} | Non-magnetic miiterial

b) | Plastic

¢}

The magnet’s magnetic force passes through the ta.nk;.'whlth Is non-
magnetic. The magnet attracted the ball and moved it up.
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